6 = a 1ee0 = PIX
v0-380°% —+ ¥0-dE1°L = WJION
20-4S1L -+ 10-425°2 = [A9Y] L
10-d102 -+ £0-300°1 = HN

er-428°L = xngd
20-396°L = 9jed odadg

A9/ AS1auy

001 oT0
I_ _ | I _ | _I
— — $-0T
H T~ | H
[ - mloﬁ
L1 1 i1

c00¥0S+gev110elr SXde

(A93 s zwd)/suojoyd

A3/ K3asuqg

001 010
”I_ 1 _____ 1 1 1 1 ____ LI M
E %% L’ E
ki
m|_ 1 | T A T A R | 1 L1111 Iw

A9¥ /ABasuy

001 010
T [TTTT T 1 T [TTT T T 1
] )
H + xr\AT \ H
- 1 v 0 1 11111 H
Apqq,wured 110 LE£80€6

o
s[enpisay

=-01

1-01

(A®¥ s)/syuno)



